Microeconomics 341 – Matthew Baker

First Practice Problems

I.
Indifference curves and two-good utility functions. 

For each of the following two-good utility functions, sketch a series of indifference curves, and calculate the marginal rate of substitution (there is some complimentarity between the tasks). 
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 represents the quantity of the first good consumed, while 
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 represents the quantity of the second good consumed.
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II.
 Consumer demand functions


For the utility functions b), d), and e), use a budget constraint of the form 
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 to find demand functions for goods 
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 and 
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, (that is, functions describing the consumer’s utility maximizing purchases of goods 
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 and 
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 as functions of 
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). Try and find demand functions for the utility functions a) and c). What problems do you encounter in trying to do this? What is the intuitive reason for this difficulty? 

III.
 Word problem
Baker has a utility function that includes two goods: health and money (or if you prefer all other goods).  His utility function is of the form: 
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, where 
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is baker’s dollar income and 
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 measures baker’s relative health. Suppose that Baker’s health is at 80% and he has an income of $10000, so his total utility is: 
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Baker slips on the sidewalk and hurts himself; as a result his health drops to 60% of its maximum value. How much money does Baker need to receive from his insurance company (above his original income of $10000) so that he will be as well off as he was before the accident? How would your answer change if Baker’s original income was $1000 instead of $10000 and he had the accident? Can you explain this difference intuitively; that is, why does the compensation for loss of health change with income, and do you think this makes sense?

IV
Additional problems

If you wish to have additional practice, the problems at the end of chapters 3 and 4 may help. I strongly recommend the problems following the chapter 4 appendix.  
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